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TR Suifafe: fageiplo GHad GHaDpa

1. fAxfaiie fyafe gt sifde fagrow GHama AT @t : (3,

2),(11,8),(8,12)

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6mh3JQsCO5vc

2. fAxfafie faysfe giar side fagod ceama Ay It -

(5,2),(4,7),(7,-4)

o Watch Video Solution

3. fAnfafie fuafa gkt o fagow GRana fAdT F@t

(]-7 2)7 (07 o 2)7 (47 3)

o Watch Video Solution

4, fAxfeafiefiysfagsidolagowGs amaAdT S : (6, 3),

(-3, 5), (4,-2)

° Watch Video Solution



https://dl.doubtnut.com/l/_0zHW37kIslmi
https://dl.doubtnut.com/l/_lV4CNuBAQUEt
https://dl.doubtnut.com/l/_fOW15VBnAZnm
https://dl.doubtnut.com/l/_Z4hKHMu156US

5. farfaieiysiagasidolagorerapdindy It

(at%, 2at1), (atg, 2at2), (atg, 2at3)

° Watch Video Solution

6. fARfaRGysfgRrdofagorEranafndy It

(a,c+a),(a,c),( -a,c-a)

° Watch Video Solution

T + T
7. 391 4, id + i A,z =4,y = 2|
zy -y

° Watch Video Solution



https://dl.doubtnut.com/l/_Z4hKHMu156US
https://dl.doubtnut.com/l/_TUqJsi5lDcqu
https://dl.doubtnut.com/l/_1HKKAQKtokz4

TY + Y

8. 7JeTpeT (A9 99,
T+ Yy

WA,z =9, y=>5

o Watch Video Solution

9. fAxRfAERYSfREPoreosARGEEaBANIIBE!:

(-4,-2), (-3,-5), (3,-2), (2, 3)

o Watch Video Solution

10. 9B IOEQGICHBIRIDATUIRNZIAEE  (1,2),(-5,6),(7,

-4)432 (k-2) IAMPOGOWHEHaDel 0 YO k = ?

° Watch Video Solution



https://dl.doubtnut.com/l/_enYjmrWEZyPs
https://dl.doubtnut.com/l/_lJIDVlYclNkF
https://dl.doubtnut.com/l/_zIaOpiR6inP6

1. A ABC a9 BC, CA Q32 AB JieqadiiqvS eyt D, E

1
AR FIFHISWI, A DEFA] G%addd = — x A ABC a9

4
GHaDd|
° Watch Video Solution
12. 9d6fags A A BCTRIGAGAIwaZAEs (0,1), (2,1) 932

(0,3)
TS oA I IR RIS ISP A @ g S SO IIGEH a e

38 g A ABCATGH A (c1dA A0 HO ?

° Watch Video Solution



https://dl.doubtnut.com/l/_pe5qsvCTbUrq
https://dl.doubtnut.com/l/_9ZkjJ2VcRAek

13. aBIolagroRfoAG MY RMIBRISRE ( 1,3), (4, p) 9

(-9,7) QILBIFTFH B 15 IFAHBRA p=?

o Watch Video Solution

14. A ABC a9 A(xy),B(1,2) a3 C(2,1) 9® GHadel 6

ISF QB BAALTINBEL, x+y= 15 932 x+y+9 = 0

o Watch Video Solution

15. SIS EIAR IOy B e TIE@L —(2,5), (4, 6)93¢ (8, 8) |

° Watch Video Solution



https://dl.doubtnut.com/l/_yC3wU36mYnUS
https://dl.doubtnut.com/l/_ajLqU3wyx2tN
https://dl.doubtnut.com/l/_wYJLvksg7cFH

16. SNIID IR ARG B T —(1,-1), (2,1) 932 (4,5) |

o Watch Video Solution

17. IMEATBIRI™, P(-3,9), Q(a, b) 932 R(4,-5) TAELRTAIa+b=1

3(Ta 932 b-AFFAfASIDE!

° Watch Video Solution

18. A TWpP(-51) 4932 Q@35 RUPRETCHRULD

k. TolPHowSiead A ABC - 49 GHaDd 2 IFadd AT

k=? (YT B(1, 5) QIR C(7,-2) |

° Watch Video Solution



https://dl.doubtnut.com/l/_8h4aCKgYocUY
https://dl.doubtnut.com/l/_73BTB8on5ylH
https://dl.doubtnut.com/l/_rHRn2TM46xSD
https://dl.doubtnut.com/l/_kxrHF0eaTGJk

19. g #£b# A PRIFDA](a, a*), (b, %), (c, )

RRIGHERI

° Watch Video Solution

20. 516 A (6, 3), B (3, 5), C(4, -2) 432 D(x,3X)|

A DBC 1
= ot =7?

AN ABC 2

° Watch Video Solution

21.(a, 1), (1, -1) 92 (11,4) gfoAGITERYea = ?

° Watch Video Solution



https://dl.doubtnut.com/l/_kxrHF0eaTGJk
https://dl.doubtnut.com/l/_cCCeLhS1dJ2u
https://dl.doubtnut.com/l/_r6bCExXc7UNG

22. IM(p,q), (m,n) 932 (p-m,q-n) TAELY, OEGAIIDEI, pn =

gml

o Watch Video Solution

23. k-9qABOAA (k2-2k),( — k # 1,2k) 932 (-4-k6-2K)

ERIGHEG]

o Watch Video Solution

24. x ATDIFTAISAT (x,-1), (2,1) 932 (4, 5) APDIFARUTIAIBE?

° Watch Video Solution



https://dl.doubtnut.com/l/_zwShBermR8mt
https://dl.doubtnut.com/l/_GITZjAWUVHUx
https://dl.doubtnut.com/l/_IzQWE3w6CNlQ

25. DHOOHR (xy), (3,4) 932 (-5,-6) 9PDIIATUIABE?

o Watch Video Solution

26. A ABC a3 forfoefavggiisadiad (6,3), (3, 5),

(4,2)l P F@HEIRYIEAT (xy) |9,
A PBC
A ABC

T +y—2
- |

° Watch Video Solution

27. IMfOABRY (21, y1), (22, ¥2), (T3, ¥s)
AP IIIAFUTIAND, [CIGL IR SAE])
Yo — Y - -

2 3 n Ys — 1 n Y1 — Y2 — 0

Tol3 T3Tq L1L2

o Watch Video Solution



https://dl.doubtnut.com/l/_0rVI21VFvvqW
https://dl.doubtnut.com/l/_mVBA0UO9lvub
https://dl.doubtnut.com/l/_SoLtTveb1nIG

28.(0,0), (3, v/3), (3, \) 9o fagrowNdaveieiA= ?

A2

D. 33563

Answer:

° Watch Video Solution

29.(0,0), (1,0) 932 (0, 1) MRFEfagroRdPiaee?

° Watch Video Solution



https://dl.doubtnut.com/l/_SoLtTveb1nIG
https://dl.doubtnut.com/l/_6KGsyN96J07e
https://dl.doubtnut.com/l/_s8iidAkE9Phe

30. A abc-d@PTEIRYIBAE (2, 2), (-474), (5, 8)
IERZRIEIR R NG CToR

A. /65
B. v/117
C. /85

D. /113

Answer:

o Watch Video Solution

31. IMAB OB ABIAOABHIIIN@EE (-1, 2), (2,-1) AR


https://dl.doubtnut.com/l/_A7tpvHEPfV6r
https://dl.doubtnut.com/l/_AiJ5KxfKEnj7

A. a=2,b=0

B.a=-2,b=0

C.a=2,b=6

D. a=6, b=2

Answer:

° Watch Video Solution

1 1
32. (0,0), (O, b) adR (1, 1) |§I‘ﬁ|®ﬂ|3ﬂ8(.ailqtalg + g=?

Al
B. 2

C.0


https://dl.doubtnut.com/l/_AiJ5KxfKEnj7
https://dl.doubtnut.com/l/_tZvsG2nBhzRQ

Answer:

° Watch Video Solution

33. 9PIBIAGOREAD Y (1,4) G NIRHIBIAIE (4, -3) 932

(-9, 7) AATa GO GIGTH aBATAI—

A. 183 I5IaBD

183 _
B. T_Q'STSIERB

C. 366 I19FD

183 _
D. T?ﬁf&ﬁ?ﬁ

Answer:



https://dl.doubtnut.com/l/_tZvsG2nBhzRQ
https://dl.doubtnut.com/l/_ptr69Cb4cVBs

| & Watch Video Solution ]

34. (a, b), (b, ¢) 92 (¢, a) AR agETeITTH(0, 0)
A’ + b3 + c3=?

A. abc

B.O

C. a+b+c

D. 3abc

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ptr69Cb4cVBs
https://dl.doubtnut.com/l/_Elj1qFyAeXDJ

35. (7, x), (y, -6) Q32 (9, 10) Ay fagioded@™ (6, 3) 2T
(xy) =?

A. (4,5)

B. (5,4)

C. (-5:2)

D. (5,2)

Answer:

° Watch Video Solution

36. /\ abc-aGHaBHADO?

A.15


https://dl.doubtnut.com/l/_NK7n5We5DNvO
https://dl.doubtnut.com/l/_h6fr0hEk4e1v

B.10

C.75

D.25

Answer:

° Watch Video Solution

37. (0,0), (a,

0) AR

: BPO?

(O’

b)


https://dl.doubtnut.com/l/_h6fr0hEk4e1v
https://dl.doubtnut.com/l/_MDo8T04ZV5BC

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MDo8T04ZV5BC

